Original

Effective December 17, 2003

POM Model APM-E
Advanced Parking Meter
Parts Price List

0A4600006495 PRICE LIST, LINE ITEM NO.3
PARKING METERS PARTS FOR THE
CONVENTION & ENTERTAINMENT CENTER
VENDOR: POM INCORPORATED

CITY OF HOUSTON APPROVED

SEE CONTRACT FOR %

PRICE LIST/SC-R—4515-038-21045

APPROVED PA VAL

DATE STARTED 08/01/06 EXPIRES 07/31/09

Call Toll-Free
1-800-331-7275



Part Number

Pricing effective 06/29/05

***Series Il APM-E Mechanism Parts***

Description

300-931-025* Mainboard (High Vis Enforcement Signal)
300-931-008* Mainboard (LCD Enforcement Signal)

300-986-025
300-986-008

Mainboard , Large LCD front, High-Visibility Display
Mainboard, Large LCD front and rear with LED

*Backlighting not included. Please specify PROM number(s) of the
mainboard being replaced when placing order so that we ma y maltch current specifications.

300-863-001
300-346

300-953
300-408
300-842
300-751
100-420

300-965
300-873
300-386
300-387
300-325
300-385*

Coin chute (std. wi $1 restrictor)
Lid, coin chute

Card reader
Block, card reader, cycolac ,
Block assy, card reader, steel (300-751/100-420)
T Block, card reader, steel

T Screw, 6-32 x 1/4, self-tap

Motor assy, Flag wheel
Fastener, push-in
Lens, right

Lens, left

Window, back

Flag wheel, expired

*Specify colors andfor text (if any) to be printed on wheel

300-145-028
300-145-029
300-145-030
300-723
300-723-001
300-723-004
300-723-BLANK
300-723-xxx
300-847-002
300-847-005
300-521
300-757
300-737-007
300-737-006
300-875
300-003
300-769
108-111-xxx

300-342
300-241
300-195*
300-012-001

Mech frame, coin only (new style w/ removable steel coin slot)
Mech frame, coin and card

Mech frame, card only

Coin slot insert (US Quarter)

Coin slot insesrt (Canada, $2)

Coin slot insert (US Golden Doliar)

Coin slot insert (no coin entrance)

Coin slot insert (specify largest diameter coin)

Back shell, top half, Lexan, w/ LED hole, lipped

Back shell, top half, black Lexan, w/ LED hole, lipped
Back shell, bottom, Lexan (old style for 9v or 4-AA battery pak)
Back shell, bottom, Lexan (new style for 4-AA battery pak)

Front shell, frontal display and one LED

Front shell, LCD expiration signal w/ backlit display sensor
Shield, Battery compartment

Battery cover (old style, black delrin)

Battery cover (use w/ 300-757 back shell, bottom)

Rate plate (Specify 3-digit rate number ™o or submit copy of verbiage)

Reset button

Spring, reset button

Decal, hour limit (*Specify hour limit and exact text)
Decal, "Flashing When Expired” Page 2 of 7

SHAPMEprrice list3 / Mechanism Parts

Al pricing Is subject to change.

Price Each

$57.45
$64.00
$50.00




300-231
108-085-001
300-583
300-135
300-092
300-581

300-010
300-214
300-236
300-756
300-109-001
300-841-002
300-841-004
300-227

Pricing effective 06/29/05

Cover, plug

Screw, 8-32 x 5/8, panhead, captive
Screw, #4 x 5/16

Screw, #2 x 1/4

Screw, 2-56 x 1/8 Phillips roundhead
Screw, #6 x 1/2, Plastite

Battery, 9v Alkaline
Battery, 9v Lithium

Battery, 6v Lithium

Battery, 6v AA Alkaline
Motor Board

Motor Board (Singie) Rev 8
Motor Board (2X) Rev 8
2-Button Loader

Page3 of 7
SHAPMEprrice list3 / Mechanism Parts

Al pricing is subject to change.

$0.64
$0.08
$0.05
$0.10
$0.04
$0.05

$2.63
$7.82
$9.75
$4.00
$31.31
$92.76
$148.24
$10.64



Part Number

Repair kit

301-015
301-015-999

Pricing effective 06/29/05

**Accessories*™*

Description

Repair kit (recommend one per 100 meters)

Each kit includes five (5) batteries (specify type), three (3} coin chutes,
one (1) mainboard and two (2) reset button springs (300-241).
Customers using the high visibility expiration signal will also receive:
three (3) flag wheels, three (3) motor assemblies and three

(3} push-in fasteners (300-873)

Pam Handheld PDA Assy (Programmed; handle assy and cable not included)
Paim Handheld PDA Assy (handle assy and cable not included)

*The Palm assy inciudes only basic equipment and software supplied by the Palm Corporation.

300-954-001
301-014
301-014-004
301-014-***
300-990
300-967
300-968
300-969
300-970
300-971
300-972
301-001
MeterManager

108-438-003

108-438-004
108-438-005

Part Number

300-420
300-947
300-706-001
300-920
300-941
300-119
300-844
300-226
300-779
108-565
108-566
100-828
102-400

Cable, Palm to handle
Handle assembly, Infrared, US Quarter

Handie assembly, Infrared, US Dollar

Handle assembly, Specify largest diameter (buying) coin
Handle assembly, direct connect, Card (Paddle)
Case, Communicator, Palm, Armor 2600

Clip, Belt, Communicator, Armor 2600

Case, Communicator, Paim, Armor 3600

Clip, Belt, Communicator, Armor 3600
Connector, Case Communicator, 3600

Strap, Neck, Case, Communicator, 3600
MeterManager Series Il software w/ POM Comm
Replacement installation CD for registered users

Decal, instructions for E mech housing, coin/card
Decal, instructions for E mech housing, coin only
Decal, instructions for E mech housing, card only

**Tools and Compounds**

Description

Digital Multimeter

Box Assy, Converter/Bootloader, Sii
instruction Sheet, Bootloader
Cable, DBOM-DBYF 2M

Cable Assy, Auxiliary Port, S
Insulating electrical compound, 5.3 OZ.
Conformal coating, 1/2 oz.

Brush

Card slot too!

Screwdriver, 3" #1 Phillips
Screwdriver, slotted, 1/8" wide
Screwdriver, phillips

Excelite 600, combination tool

Page 4 of 7
SHAPMEprrice list3 / Accessories

All pricing is subject to change.

Price Each

10% discount against list price for
each of the listed parts in the
quantities specified

$650.00

$57.55

$92.27
$33.25
$179.05
$33.25
$66.58
$49.92
$1,800.00
$100.00

$0.74
$0.74
$0.74

Price Each

$65.00
$54.11
$0.00
$7.02
$19.62
$19.81
$8.59
$2.00
$0.30
$14.00
$5.13
$6.08
$20.62




Pricing effective 06/29/05

“**Collection Equipment**

Part Number Description
103-209 Cart w/ 12" solid rubber wheels

103-209-001  Cart w/ 12" solid rubber wheels and swivel caster
103-209-002  Cart w/ 14" pneumatic tires
103-209-003  Cart w/ 14" pneumatic tires and swivel caster

100-626-001 8" round canister assy. w/ SG collection head (specify code)
100-626-002 8" round canister assy. w/ flexible funnel for

-dump/open style boxes

100-626-003 8" round canister assy. w/ rigid funnel for

dump/open style boxes

108-464 6 x 11 x 20-1/8" rectangular canister assy.

w/ round (cycolac) style collection head (specify code)

8x 11 x 20-1/8" rectangular canister assy. w/ round (cycolac)
style collection head (specify code)

5-5/8 x 8-1/4 x 20" rectangular canister assy. W/ round (cycolac)
- style collection head (specify code)

108-695 8x 11 x 20-1/8" rectangular canister assy. w/ rigid funnel

101-116 Carry can assy. W/ SG collection head and straps (specify code)

108-330 Cycolac collection head assy. (specify code)

101-114 SG collection head assy. (specify code)

101-115 Linear key for SG collection head (specify code)

108-078 Steel E-lock key for cycolac collection head (specify code)

108-379 L-series Illinois Duo key for cycolac collection head (specify code)
Page5of 7

SHIAPMEprrice list3 / Accessories

Al pricing is subject to change.

Price Each

$477. 87
$517.49
$490.41
$530.00

$446.78

$696.76

$677.73

$738.44

2.50
$525.71
$225.00
$172.83

$25.00
$12.00
$8.30



APM - SI| ELECTRONIC
COIN & (CARD CAPABLE,
RED LD

| SLOT INSERT, 'S5
300-~723"

COIN CHUTE AsSY
300~863=001

§Q 08/30,
séﬂa.ﬁm R

R A M Bl 8 i, ot ».s..{ax(,\.....4}).;5&4(,.c.s.t,»2?:.(..&.2!&Q.v{.y&.,...{,.}.»,.ﬂ.i



CAIR

D READER

PLUG COVER
300--231\,

SLOT INSERT, 'S§_,
300723




